X E1E KR (FER) BFN2AEE KA
s RATEH HHE 4A 5H 6H | 74 8A 9A (108 | 11A [12A | 1A 2H 3H
1| — AN EA 10081 F 0 0 0 0 0 0 1 0 0 0 0 0
2|k RIS pane  pore none| mne] v | mer|  peer] nee| menr|  pee| pen
3| HRIT L 0.003LL F
4|7k R 0.000584 F
5L 0.018LF
6|%h 0.018L F
=3 0.018LF
I PaYivA=0A 0.0254 F <0.002 <0.002 <0.002 <0.002
M CREE e 0.048L F <0.004 <0.004 <0.004 <0.004
10137 0.0184 F <0.001 <0.001 <0.001 <0.001
11 gg%i%iﬁ&omﬁ 1080 F 1.6 1.8 1.1 1.2
12|73 0.8LL F <0.08
13| & 1BF
14| DAk iR SR 0.00284
151, 4— %4 0.058L F
16|75 L 2T | ooay
17| 7aurz 0.02LL F
18|FFrmr=FL 0.018L F
9N rrrFL 0.01LLF
20[_ 0.01BLF
21|t E 0.680F <0.06 <0.06 <0.06 <0.06
22|/ R 0.028L F <0.002 <0.002 <0.002 <0.002
23| 7 aaR L 0.065L F <0.006 <0.006 <0.006 <0.006
24|y aafkE 0.0384F <0.003 <0.003 <0.003 <0.003
257 mEsER ALY 0.1 °F <0.01 <0.01 <0.01 <0.01
26| R EWE 0.01LF <0.001 <0.001 <0.001 <0.001
AN N=F 2 % 0.18LF <0.01 <0.01 <0.01 <0.01
A NP =d=111 73 0.03L4TF <0.003 <0.003 <0.003 <0.003
9|7 BB rmm AL 0.038LF <0.003 <0.003 <0.003 <0.003
307 mEAIL L 0.0984 F <0.009 <0.009 <0.009 <0.009
31ALLT LT ER 0.088L F <0.008 <0.008 <0.008 <0.008
32| HEH 1BLF
33| 7 L3= A 0.201F <0.02
348k 0.380F
354 1BF
36[F R 20080 F
37|\~ 0.05L4F
38|k 1A 20084 5.4 55| 58] 6.4 53| 59 5.7 5.4 59 6.4 6.6] 9.1
39| 7 30021 T 36
40| 78T IR AW 50084 110
41(REA A Fm G A 0.2L1F
42(Y = F A3 _ 0'0030# <0.000001
43 i_:)jz’“/m’yﬁ/v?\ 0.00&)2} €0.000001
44|FEAA L FETEMEA] | 0.0200F
457 = /) — VIR 0.00584F
46| H W) 3T 0.5 0.5/ 08[ 0.5 0.8/ 0.7 0.6 0.4| 05| 0.6 0.3 0.7
47|pH 5.8~8.6 7.3 7.3 73| 74 73| 74 74 7.4 73] 7.3 73 7.1
50| (8 5L <0.5 <0.5| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| <0.5
51| 28T <0.2 <0.2| <0.2| <0.2 <0.2| <0.2| <0.2 <0.2| <0.2| <0.2 0.2 <0.2

KE AR kXt HER




PR E2F K% (dLER) BFN2AEE KA
s RATEH HHE 4A 5H 6H | 74 8A 9H | 108 | 11A [12A | 1A 2H 3H
1| — AN EA 10081 F 0 0 0 0 0 0 0 0 0 0 0 0
2|k RIS pane  pore none| mne] v | mer|  peer] nee| menr|  pee| pen
3| HRIT L 0.003LL F
4|7k R 0.000584 F
5L 0.018LF
6|%h 0.018L F
=3 0.018LF
I PaYivA=0A 0.0254 F <0.002 <0.002 <0.002 <0.002
M CREE e 0.048L F <0.004 <0.004 <0.004 <0.004
10137 0.0184 F <0.001 <0.001 <0.001 <0.001
11 gg%i%iﬁ&omﬁ 1080 F 1.6 1.6 1.1 1.1
12|73 0.8UF 0.09
13|ARw R 1BF
14| DAk iR SR 0.00284
151, 4— %4 0.058L F
16|75 L 2T | ooay
17| 7aurz 0.0200F
18|FFrmr=FL 0.018L F
9N rrrFL 0.01LLF
20[_ 0.01BLF
21|t E 0.680F 0.35 0.29 0.12 <0.06
22|/ R 0.028L F <0.002 <0.002 <0.002 <0.002
23| 7 aaR L 0.065L F <0.006 <0.006 <0.006 <0.006
24|y aafkE 0.0384F <0.003 <0.003 <0.003 <0.003
257 mEsER ALY 0.1 °F <0.01 <0.01 <0.01 <0.01
26| R EWE 0.01LF <0.001 <0.001 <0.001 <0.001
AN N=F 2 % 0.1 °F <0.01 <0.01 <0.01 <0.01
A NP =d=111 73 0.03L4TF <0.003 <0.003 <0.003 <0.003
9|7 BB rmm AL 0.038LF <0.003 <0.003 <0.003 <0.003
307 mEAIL L 0.0984 F <0.009 <0.009 <0.009 <0.009
31ALLT LT ER 0.088L F <0.008 <0.008 <0.008 <0.008
32| HEH 1BLF
33| 7 L3= A 0.201F <0.02
348k 0.380F
354 1BF
36[F R 20080 F
37|\~ 0.05L4F
38|k 1A 20084 8.1 8.0 8.3 8.2 6.7 7.0 6.8 7.3 8.0 8.9 8.9 9.4
39| 7 30021 T 34
40| 78T IR AW 50084 110
41(REA A Fm G A 0.2L1F
42|V =A A _ 0'0030# <0.000001
43 i_:)jz’“/m’yﬁ/v?\ 0.00&)2} €0.000001
44|FEAA L FETEMEA] | 0.0200F
45|7 =/ —)VIE 0.005L1 F
46| H W) 3T 0.6 0.4 09 06 0.7 08| 0.5 0.3 05| 0.6 <0.3| <0.3
47|pH 5.8~8.6 6.9 6.9 6.9 6.9 6.8 6.9 7.0 6.9 7.0 7.0 7.0 6.9
50| (8 5L <0.5 <0.5| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| <0.5
51| 28T <0.2 <0.2| <0.2| <0.2 <0.2| <0.2| <0.2 <0.2| <0.2| <0.2 0.2 <0.2

KE AR kXt HER




W LBk BFN2AEE KA
s RATEH HHE 4A 5H 6H | 74 8A 9H | 108 | 11A [12A | 1A 2H 3H
1| — AN EA 10081 F 0 0 0 0 0 0 0 0 0 0 0 0
2|k RIS pane  pore none| mne] v | mer|  peer] nee| menr|  pee| pen
3| HRIT L 0.003LL F
4|7k R 0.000584 F
5L 0.018LF
6|%h 0.018L F
=3 0.018LF
I PaYivA=0A 0.0254 F <0.002 <0.002 <0.002 <0.002
M CREE e 0.048L F <0.004 <0.004 <0.004 <0.004
10137 0.0184 F <0.001 <0.001 <0.001 <0.001
11 gg%i%iﬁ&omﬁ 1080 F 0.3 0.4 0.6 0.6
12|73 0.8UF 0.15
13|ARw R 1BF
14| DAk iR SR 0.00284
151, 4— %4 0.058L F
16|75 L 2T | ooay
17| 7aurz 0.0200F
18|FFrmr=FL 0.018L F
9N rrrFL 0.01LLF
20[_ 0.01BLF
21|t E 0.680F <0.06 0.07 0.07 <0.06
22|/ R 0.028L F <0.002 <0.002 <0.002 <0.002
23| 7 aaR L 0.065L F <0.006 0.007 <0.006 <0.006
24|y aafkE 0.0384F <0.003 <0.003 <0.003 <0.003
257 mEsER ALY 0.1 °F <0.01 <0.01 <0.01 <0.01
26| R EWE 0.01LF <0.001 <0.001 <0.001 <0.001
AN N=F 2 % 0.1 °F <0.01 0.01 <0.01 <0.01
A NP =d=111 73 0.03L4TF <0.003 <0.003 <0.003 <0.003
9|7 BB rmm AL 0.038LF <0.003 0.005 <0.003 <0.003
307 mEAIL L 0.0984 F <0.009 <0.009 <0.009 <0.009
31ALLT LT ER 0.088L F <0.008 <0.008 <0.008 <0.008
32| HEH 1BLF
33| 7 L3= A 0.201F <0.02
348k 0.380F
354 1BF
36[F R 20080 F
37|\~ 0.05L4F
38|k 1A 20084 4.3 4.0 4.3 4.0 3.8 4.3] 3.9 3.9 43 5.4 53| 4.5
39| 7 30021 T 11
40| 78T IR AW 50084 58
41(REA A Fm G A 0.2L1F
42|V =A A _ 0'0030# <0.000001
43 i_:)jz’“/m’yﬁ/v?\ 0.00&)2} €0.000001
44|FEAA L FETEMEA] | 0.0200F
45|7 =/ —)VIE 0.005L1 F
46| H W) 3T 0.7 0.6/ 1.2 o7 0.8/ 0.7 0.6 0.3 05| 0.7 0.4| 0.7
47|pH 5.8~8.6 7.2 7.1 7.1 71 71 70 7.2 7.1 7.0 6.9 7.0 7.2
50| (8 5L 1.1 1.5 1.3 1.6 1.5 1.3 14 1.8] 1.5 2.8 2.0 2.1
51| 28T <0.2 <0.2| <0.2| <0.2 <0.2| <0.2| <0.2 <0.2| <0.2| <0.2 0.2 <0.2

KE AR kXt HER




FEIKR BFN2AEE KA
s RATEH HHE 4A 5H 6H | 74 8A 9H | 108 | 11A [12A | 1A 2H 3H
1| — AN EA 10081 F 0 0 0 0 0 0 2 0 0 0 0 0
2|k RIS pane  pore none| mne] v | mer|  peer] nee| menr|  pee| pen
3| HRIT L 0.003LL F
4|7k R 0.000584 F
5L 0.018LF
6|%h 0.018L F
=3 0.018LF
I PaYivA=0A 0.0254 F <0.002 <0.002 <0.002 <0.002
M CREE e 0.048L F <0.004 <0.004 <0.004 <0.004
10137 0.0184 F <0.001 <0.001 <0.001 <0.001
11 gg%i%iﬁ&omﬁ 1080 F 0.6 0.6 0.7 0.8
12|73 0.8UF 0.09
13|ARw R 1BF
14| DAk iR SR 0.00284
151, 4— %4 0.058L F
16|75 L 2T | ooay
17| 7aurz 0.0200F
18|FFrmr=FL 0.018L F
9N rrrFL 0.01LLF
20[_ 0.01BLF
21|t E 0.680F <0.06 <0.06 <0.06 <0.06
22|/ R 0.028L F <0.002 <0.002 <0.002 <0.002
23| 7 aaR L 0.065L F <0.006 <0.006 <0.006 <0.006
24|y aafkE 0.0384F <0.003 <0.003 <0.003 <0.003
257 mEsER ALY 0.1 °F <0.01 <0.01 <0.01 <0.01
26| R EWE 0.01LF <0.001 <0.001 <0.001 <0.001
AN N=F 2 % 0.1 °F <0.01 <0.01 <0.01 <0.01
A NP =d=111 73 0.03L4TF <0.003 <0.003 <0.003 <0.003
9|7 BB rmm AL 0.038LF <0.003 <0.003 <0.003 <0.003
307 mEAIL L 0.0984 F <0.009 <0.009 <0.009 <0.009
31ALLT LT ER 0.088L F <0.008 <0.008 <0.008 <0.008
32| HEH 1BLF
33| 7 L3= A 0.201F <0.02
348k 0.380F
354 1BF
36[F R 20080 F
37|\~ 0.05L4F
38|k 1A 20084 4.2 3.7 4.3] 4.0 3.5 3.8] 3.6 3.6] 3.8 4.5 55| 4.8
39| 7 30021 T 14
40| 78T IR AW 50084 64
41(REA A Fm G A 0.2L1F
42|V =A A _ 0'0030# <0.000001
43 i_:)jz’“/m’yﬁ/v?\ 0.00&)2} €0.000001
44|FEAA L FETEMEA] | 0.0200F
45|7 =/ —)VIE 0.005L1 F
46| H W) 3T 0.6 0.6/ 1.3 0.6 0.8/ 08| 0.6 0.3 05| 0.7 <0.3 0.5
47|pH 5.8~8.6 6.8 6.8/ 6.7 6.7 6.7 6.7 6.8 6.8 6.8 6.7 6.8/ 6.9
50| (8 5L <0.5 <0.5| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| <0.5
51| 28T <0.2 <0.2| <0.2| <0.2 <0.2| <0.2| <0.2 <0.2| <0.2| <0.2 0.2 <0.2

KE AR kXt HER




KREKZR BFN2AEE KA
s RATEH HHE 4A 5H 6H | 74 8A 9H | 108 | 11A [12A | 1A 2H 3H
1| — AN EA 10081 F 0 0 0 0 0 0 0 0 0 0 0 0
2|k RIS pane  pore none| mne] v | mer|  peer] nee| menr|  pee| pen
3| HRIT L 0.003LL F
4|7k R 0.000584 F
5L 0.018LF
6|%h 0.018L F
=3 0.018LF
I PaYivA=0A 0.0254 F <0.002 <0.002 <0.002 <0.002
M CREE e 0.048L F <0.004 <0.004 <0.004 <0.004
10137 0.0184 F <0.001 <0.001 <0.001 <0.001
11 gg%i%iﬁ&omﬁ 1080 F 0.6 0.6 0.7 0.9
12|73 0.8UF 0.10
13|ARw R 1BF
14| DAk iR SR 0.00284
151, 4— %4 0.058L F
16|75 L 2T | ooay
17| 7aurz 0.0200F
18|FFrmr=FL 0.018L F
9N rrrFL 0.01LLF
20[_ 0.01BLF
21|t E 0.680F <0.06 <0.06 <0.06 <0.06
22|/ R 0.028L F <0.002 <0.002 <0.002 <0.002
23| 7 aaR L 0.065L F <0.006 <0.006 <0.006 <0.006
24|y aafkE 0.0384F <0.003 <0.003 <0.003 <0.006
257 mEsER ALY 0.1 °F <0.01 <0.01 <0.01 <0.01
26| R EWE 0.01LF <0.001 <0.001 <0.001 <0.001
AN N=F 2 % 0.1 °F <0.01 <0.01 <0.01 <0.01
A NP =d=111 73 0.03L4TF <0.003 <0.003 <0.003 <0.003
9|7 BB rmm AL 0.038LF <0.003 0.003 <0.003 <0.003
307 mEAIL L 0.0984 F <0.009 <0.009 <0.009 <0.009
31ALLT LT ER 0.088L F <0.008 <0.008 <0.008 <0.008
32| HEH 1BLF
33| 7 L3= A 0.201F <0.02
348k 0.380F
354 1BF
36[F R 20080 F
37|\~ 0.05L4F
38|k 1A 20084 3.7 3.7 42| 3.6 3.3 3.9 3.6 3.6] 39 5.2 4.7 4.5
39| 7 30021 T 17
40| 78T IR AW 50084 77
41(REA A Fm G A 0.2L1F
42|V =A A _ 0'0030# <0.000001
43 i_:)jz’“/m’yﬁ/v?\ 0.00&)2} €0.000001
44|FEAA L FETEMEA] | 0.0200F
45|7 =/ —)VIE 0.005L1 F
46| H W) 3T 0.6 0.6/ 1.1f o7 0.8/ 08| 0.6 0.3 05| 0.7 0.3 0.6
47|pH 5.8~8.6 7.1 7.1 7.0 7.1 7.0l 7.0 7.1 700 7.1 6.9 7.0 7.1
50| (8 5L <0.5 <0.5| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| <0.5
51| 28T <0.2 <0.2| <0.2| <0.2 <0.2| <0.2| <0.2 <0.2| <0.2| <0.2 0.2 <0.2

KE AR kXt HER




EEHER BFN2AEE KA
s RATEH HHE 4A 5H 6H | 74 8A 9H | 108 | 11A [12A | 1A 2H 3H
1| — AN EA 10081 F 0 0 0 0 0 0 0 0 0 0 0 0
2|k RIS pane  pore none| mne] v | mer|  peer] nee| menr|  pee| pen
3| HRIT L 0.003LL F
4|7k R 0.000584 F
5L 0.018LF
6|%h 0.018L F
=3 0.018LF
I PaYivA=0A 0.0254 F <0.002 <0.002 <0.002 <0.002
M CREE e 0.048L F <0.004 <0.004 <0.004 <0.004
10137 0.0184 F <0.001 <0.001 <0.001 <0.001
11 gg%i%iﬁ&omﬁ 1080 F 1.4 1.3 1.1 1.2
12|73 0.8UF 0.09
13|ARw R 1BF
14| DAk iR SR 0.00284
151, 4— %4 0.058L F
16|75 L 2T | ooay
17| 7aurz 0.0200F
18|FFrmr=FL 0.018L F
9N rrrFL 0.01LLF
20[_ 0.01BLF
21|t E 0.680F 0.09 0.08 <0.06 <0.06
22|/ R 0.028L F <0.002 <0.002 <0.002 <0.002
23| 7 aaR L 0.065L F <0.006 <0.006 <0.006 <0.006
24|y aafkE 0.0384F <0.003 <0.003 <0.003 <0.003
257 mEsER ALY 0.1 °F <0.01 <0.01 <0.01 <0.01
26| R EWE 0.01LF <0.001 <0.001 <0.001 <0.001
AN N=F 2 % 0.1 °F <0.01 <0.01 <0.01 <0.01
A NP =d=111 73 0.03L4TF <0.003 <0.003 <0.003 <0.003
9|7 BB rmm AL 0.038LF <0.003 <0.003 <0.003 <0.003
307 mEAIL L 0.0984 F <0.009 <0.009 <0.009 <0.009
31ALLT LT ER 0.088L F <0.008 <0.008 <0.008 <0.008
32| HEH 1BLF
33| 7 L3= A 0.201F <0.02
348k 0.380F
354 1BF
36[F R 20080 F
37|\~ 0.05L4F
38|k 1A 20084 4.6 49| 5.7 58 3.9 4.6] 4.4 4.1 45| 4.7 5.0 2.6
39| 7 30021 T 28
40| 78T IR AW 50084 92
41(REA A Fm G A 0.2L1F
42|V =A A _ 0'0030# <0.000001
43 i_:)jz’“/m’yﬁ/v?\ 0.00&)2} €0.000001
44|FEAA L FETEMEA] | 0.0200F
45|7 =/ —)VIE 0.005L1 F
46| H W) 3T 0.6 05| 1.1 0.6 0.8/ 06| 0.6 <0.3 0.5 0.6 0.3 0.9
47|pH 5.8~8.6 7.2 71 71| 73 72 72| 74 72| 6.9 6.8 6.9 7.2
50| (8 5L <0.5 1.2| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| <0.5| <0.5 0.5 1.3
51| 28T <0.2 <0.2| <0.2| <0.2 <0.2| <0.2| <0.2 <0.2| <0.2| <0.2 0.2 <0.2

KE AR kXt HER




WEBKR SN2 K A
s RATEH HHE 4A 5H 6H | 74 8A 9A (108 | 11A [12A | 1A 2H 3H
1| — AN EA 10081 F 0 0 0 0 0 0 0 0 0 0 0 0
2|k RIS pane  pore none| mne] v | mer|  peer] nee| menr|  pee| pen
3| HRIT L 0.003LL F
4|7k R 0.000584 F
5L 0.018LF
6|%h 0.018L F
=3 0.018LF
I PaYivA=0A 0.0254 F <0.002 <0.002 <0.002 <0.002
M CREE e 0.048L F <0.004 <0.004 <0.004 <0.004
10137 0.0184 F <0.001 <0.001 <0.001 <0.001
11 gg?i%iﬁ&omﬁ 1080 F 0.3 0.3 0.3 0.4
12|73 0.8LL F <0.08
13| & 1BF
14| DAk iR SR 0.00284
151, 4— %4 0.058L F
16|75 L 2T | ooay
17| 7aurz 0.02LL F
18|FFrmr=FL 0.018L F
9N rrrFL 0.01LLF
20[_ 0.01BLF
21|t E 0.680F <0.06 0.11 0.13 <0.06
22|/ R 0.028L F <0.002 <0.002 <0.002 <0.002
23| 7 aaR L 0.065L F 0.011 0.031 0.027 0.024
24|y aafkE 0.038L F 0.008 0.009 0.014 0.012
257 mEsER ALY 0.1 °F <0.01 <0.01 <0.01 <0.01
26| R EWE 0.01LF <0.001 <0.001 <0.001 <0.001
AN N=F 2 % 0.1 °F 0.01 0.04 0.03 0.03
A NP =d=1 1173 0.03L4TF 0.015 0.024 0.020 0.019
9|7 BB rmm AL 0.038LF <0.003 0.006 0.004 0.004
307 mEAIL L 0.0984 F <0.009 <0.009 <0.009 <0.009
31ALLT LT ER 0.088L F <0.008 <0.008 <0.008 <0.008
32| HEH 1BLF
33| 7 L3= A 0.201F <0.02
348k 0.380F
354 1BF
36[F R 20080 F
37|\~ 0.05L4F
38|k 1A 20084 2.6 2.6 28] 29 2.8] 33| 28 2.9 30| 28 2.8 5.1
39| 7 30021 T 8
40| 7R FE IR AW 50084 52
41(REA A Fm G A 0.2L1F
42(Y = F A3 _ 0'0030# <0.000001
43 i_:)jz’“/m’yﬁ/v?\ 0.00&)2} €0.000001
44|FEAA L FETEMEA] | 0.0200F
457 = /) — VIR 0.00584F
46| H W) 3T 0.9 0.8 1.4 1.2 1.1l 11l 0.9 1.0l 0.7] 1.0 0.9 0.6
47|pH 5.8~8.6 7.3 71 71| 7.2 71 72| 7.3 73] 72| 71 7.1 7.0
50| (8 5L 0.8 2.2 1.0 1.6 1.0 0.9 <0.5 1.4 0.9 1.2 1.8] <0.5
51| 28T <0.2 <0.2| <0.2| <0.2 <0.2| <0.2| <0.2 <0.2| <0.2| <0.2 0.2 <0.2

KE AR kXt HER




FIREIK R BFN2AEE KA
s RATEH HHE 4A 5H 6H | 74 8A 9H | 108 | 11A [12A | 1A 2H 3H
1| — AN EA 10081 F 0 0 0 0 2 0 0 0 0 0 0 0
2|k RIS pane  pore none| mne] v | mer|  peer] nee| menr|  pee| pen
3| HRIT L 0.003LL F
4|7k R 0.000584 F
5L 0.018LF
6|%h 0.018L F
=3 0.018LF
I PaYivA=0A 0.0254 F <0.002 <0.002 <0.002 <0.002
M CREE e 0.048L F <0.004 <0.004 <0.004 <0.004
10137 0.0184 F <0.001 <0.001 <0.001 <0.001
11 gg%i%iﬁ&omﬁ 1080 F 0.9 0.9 1.0 1.0
12|73 0.8UF 0.11
13|ARw R 1BF
14| DAk iR SR 0.00284
151, 4— %4 0.058L F
16|75 L 2T | ooay
17| 7aurz 0.0200F
18|FFrmr=FL 0.018L F
9N rrrFL 0.01LLF
20[_ 0.01BLF
21|t E 0.680F <0.06 <0.06 <0.06 <0.06
22|/ R 0.028L F <0.002 <0.002 <0.002 <0.002
23| 7 aaR L 0.065L F <0.006 0.010 <0.006 <0.006
24|y aafkE 0.0384F <0.003 <0.003 <0.003 <0.003
257 mEsER ALY 0.1 °F <0.01 <0.01 <0.01 <0.01
26| R EWE 0.01LF <0.001 <0.001 <0.001 <0.001
AN N=F 2 % 0.1 °F <0.01 0.02 <0.01 <0.01
A NP =d=111 73 0.03L4TF <0.003 <0.003 <0.003 <0.003
9|7 BB rmm AL 0.038LF <0.003 0.007 <0.003 <0.003
307 mEAIL L 0.0984 F <0.009 <0.009 <0.009 <0.009
31ALLT LT ER 0.088L F <0.008 <0.008 <0.008 <0.008
32| HEH 1BLF
33| 7 L3= A 0.201F 0.02
348k 0.380F
354 1BF
36[F R 20080 F
37|\~ 0.05L4F
38|k 1A 20084 3.7 4.0 45| 3.7 3.2 41| 3.7 3.8] 4.2 5.3 49| 4.6
39| 7 30021 T 36
40| 78T IR AW 50084 98
41(REA A Fm G A 0.2L1F
42|V =A A _ 0'0030# <0.000001
43 i_:)jz’“/m’yﬁ/v?\ 0.00&)2} €0.000001
44|FEAA L FETEMEA] | 0.0200F
45|7 =/ —)VIE 0.005L1 F
46| H W) 3T 0.8 0.7 1.3 0.8 1.0l 09 0.7 0.4| 06| 0.7 0.5/ 0.6
47|pH 5.8~8.6 7.2 721 72| 73 7.2 73] 74 73 73] 7.2 7.2 7.3
50| (8 5L <0.5 <0.5| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| <0.5| <0.5 <0.5| <0.5
51| 28T <0.2 <0.2| <0.2| <0.2 <0.2| <0.2| <0.2 <0.2| <0.2| <0.2 0.2 <0.2

KE AR kXt HER




WL F B K R BFN2AEE KA
s RATEH HHE 4A 5H 6H | 74 8A 9A (108 | 11A [12A | 1A 2H 3H
1| — AN EA 10081 F 0 0 0 0 0 0 0 0 0 0 0 0
2|k RIS pane  pore none| mne] v | mer|  peer] nee| menr|  pee| pen
3| HRIT L 0.003LL F
4|7k R 0.000584 F
5L 0.018LF
6|%h 0.018L F
=3 0.018LF
I PaYivA=0A 0.0254 F <0.002 <0.002 <0.002 <0.002
M CREE e 0.048L F <0.004 <0.004 <0.004 <0.004
10137 0.0184 F <0.001 <0.001 <0.001 <0.001
11 gg%i%iﬁ&omﬁ 1080 F 1.0 1.2 1.2 1.5
12|73 0.8LL F <0.08
13| & 1BF
14| DAk iR SR 0.00284
151, 4— %4 0.058L F
16|75 L 2T | ooay
17| 7aurz 0.02LL F
18|FFrmr=FL 0.018L F
9N rrrFL 0.01LLF
20[_ 0.01BLF
21|t E 0.680F <0.06 <0.06 <0.06 <0.06
22|/ R 0.028L F <0.002 <0.002 <0.002 <0.002
23| 7 aaR L 0.065L F <0.006 <0.006 <0.006 <0.006
24|y aafkE 0.0384F <0.003 <0.003 <0.003 <0.003
257 mEsER ALY 0.1 °F <0.01 <0.01 <0.01 <0.01
26| R EWE 0.01LF <0.001 <0.001 <0.001 <0.001
AN N=F 2 % 0.18LF <0.01 0.01 0.01 <0.01
A NP =d=111 73 0.03L4TF <0.003 <0.003 <0.003 <0.003
9|7 BB rmm AL 0.038LF <0.003 0.004 0.003 <0.003
307 mEAIL L 0.0984 F <0.009 <0.009 <0.009 <0.009
31ALLT LT ER 0.088L F <0.008 <0.008 <0.008 <0.008
32| HEH 1BLF
33| 7 L3= A 0.201F <0.02
348k 0.380F
354 1BF
36[F R 20080 F
37|\~ 0.05L4F
38|k 1A 20084 4.6 4.1 71| 5.9 52| 5.0 5.2 53| 53] 5.3 6.6] 6.0
39| 7 30021 T 32
40| 78T IR AW 50084 97
41(REA A Fm G A 0.2L1F
42(Y = F A3 _ 0'0030# <0.000001
43 i_:)jz’“/m’yﬁ/v?\ 0.00&)2} €0.000001
44|FEAA L FETEMEA] | 0.0200F
457 = /) — VIR 0.00584F
46| H W) 3T 0.6 0.6/ 1.3 0.9 0.9/ 08| 0.7 0.4| 06| 0.7 0.6] 0.7
47|pH 5.8~8.6 7.3 721 73] 74 73 7.4 75 7.4 7.4 7.3 73] 7.3
50| (8 5L 0.6 <0.5| 0.5| 08 <0.5| <0.5| 0.5 0.5 0.7] 0.6 0.6] <0.5
51| 28T <0.2 <0.2| <0.2| <0.2 <0.2| <0.2| <0.2 <0.2| <0.2| <0.2 0.2 <0.2
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